	№1
Решите уравнения:                                               1. log
[image: image1.wmf]2

(2x-1) = 3
2.   2 log
[image: image2.wmf]3

2- log
[image: image3.wmf]3

(х-1) = 1 + log
[image: image4.wmf]3

5.      
3.   2 log
[image: image5.wmf]2

3

,

0

х – 7 log
[image: image6.wmf]3

,

0

х - 4 = 0                    
	№2  .                                                     
Решите уравнения:     
   1. log
[image: image7.wmf]5

,

0

(3x-1) = -3    
2.  2 log
[image: image8.wmf]3

(2х + 1) = log
[image: image9.wmf]3

13 +1.                               3.  log
[image: image10.wmf]2

2

1

х +3 log
[image: image11.wmf]2

1

х + 2 = 0.     



	№3 

1.   
[image: image12.wmf]2

1

log
[image: image13.wmf]2

(3x-2) = 3
2.  -log
[image: image14.wmf]7

(5-х) = log
[image: image15.wmf]7

2 -1
         3.   2 log
[image: image16.wmf]2

3

,

0

х – 7 log
[image: image17.wmf]3

,

0

х - 4 = 0
	№4     

 1. 
[image: image18.wmf]3

1

log
[image: image19.wmf]3

(2x+1) = 1
2. lg (5х + 2) =  
[image: image20.wmf]2

1

lg36 + lg2
3. 3 log
[image: image21.wmf]2

2

1

х +5 log
[image: image22.wmf]2

1

х - 2 = 0.

	№5  

1.  lg (4х-2) = 5 lg2 - 3. 

2. 3 log
[image: image23.wmf]2



 EMBED Equation.3  [image: image24.wmf]2

1

- log
[image: image25.wmf]2



 EMBED Equation.3  [image: image26.wmf]32

1

 = log
[image: image27.wmf]2

х.
3.   log
[image: image28.wmf]2

2

1

х +3 log
[image: image29.wmf]2

1

х + 2 = 0
	№6          
  1. lg (5х + 2) =  
[image: image30.wmf]2

1

lg36 + lg2
2.  2 log
[image: image31.wmf]8

х  = log
[image: image32.wmf]8

2,5 +  log
[image: image33.wmf]8

10
3.  log
[image: image34.wmf]2

2

,

0

х + log
[image: image35.wmf]2

,

0

х - 6 = 0

	№7  

 1.  log
[image: image36.wmf]1

,

0

(х2 +4х - 20) = 0
2. log
[image: image37.wmf]7

1

(х2 + х - 5) = -1

3.   2 log
[image: image38.wmf]2

3

,

0

х – 7 log
[image: image39.wmf]3

,

0

х - 4 = 0
	№8  

  1.  log
[image: image40.wmf]3

1

(х2 – 10х +10) = 0

2.  log
[image: image41.wmf]3

1

(х2 + 3х -1) = -2. 

3. 3 log
[image: image42.wmf]2

2

1

х +5 log
[image: image43.wmf]2

1

х - 2 = 0.

	№9

1. log
[image: image44.wmf]2

(х2 +7х - 5) = log
[image: image45.wmf]2

(4х – 1)

      2.  log
[image: image46.wmf]3

(х – 2) +  log
[image: image47.wmf]3

(х + 2) = log
[image: image48.wmf]3

(2х – 1)


	

	
	

	
	

	
	

	
	

	
	


                                                                                        №10    

      .                           1. log
[image: image49.wmf]3

,

0

(-х2 +5х + 7) = log
[image: image50.wmf]3

,

0

(10х - 7). 
      .            2. log
[image: image51.wmf]11

(х + 4) +  log
[image: image52.wmf]11

(х - 7) = log
[image: image53.wmf]11

(7 – х).
      3.  log
[image: image54.wmf]2

2

1

х +3 log
[image: image55.wmf]2

1

х + 2 = 0.                                       3.  log
[image: image56.wmf]2

2

,

0

х + log
[image: image57.wmf]2

,

0

х - 6 = 0.
                               Логарифмические уравнения
[image: image58.wmf](А)
	1

1

2

3


	2

1

2

3



	3

1

2

3


	4

1

2

3



	5

1

2

3


	6

1

2

3



	7

1

2

3


	8

1

2

3



	9

1

2

3


	10

1

2

3




_1191532247.unknown

_1191532376.unknown

_1191532932.unknown

_1191532969.unknown

_1191532992.unknown

_1191532413.unknown

_1191532287.unknown

_1191528043.unknown

_1191531931.unknown

_1191532095.unknown

_1191532119.unknown

_1191531954.unknown

_1191530878.unknown

_1191531468.unknown

_1191531538.unknown

_1191531559.unknown

_1191531494.unknown

_1191530908.unknown

_1191530118.unknown

_1191530545.unknown

_1191528079.unknown

_1191529721.unknown

_1191527477.unknown

_1191527947.unknown

_1191527986.unknown

_1191527599.unknown

_1191527857.unknown

_1191527353.unknown

_1191527391.unknown

_1191527431.unknown

_1191527252.unknown

_1191527133.unknown

